NOILVAI 1S
Jdl09—HHA4 )
INNOW 3A3TTS Z
ON_ONIAYT QYD mmmwm -
L7 40 | JAVSH4 JONY 14 Wmmmmm ) 8
Y3IAN0T QLO9—HH3 IEHER: 4 o
‘ON_L33HS 31T Nmm,.sg.w L ® R o \\ o~
Al 01¥0-9/t¥S NISNOISIM E 2§23 me A NN
3IWIS ‘@13140H3S 01y X009 04 FL wm%%m rm,mm § mﬂﬂo,.t.ﬁ# «
" & N
otoc/se/gl sk L NOSIHINESE | §s3 DRERAL

J ®

WAAAAAAAAAAAAAAQAAAAQAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAA&

& @ " 1

L ——
VERTICAL

@

T En

= |

i

. S EEFEEHAA R A AR B RFFIF R R R RERAFTTA mm
: 3

- HH_HHHHHHUHHHHHHHmnHHHHuHHHH.H HHHHHHH_HHHHHHHHHHHHHHHH m
E
€5 k

®

]
|
I
[

El
i
]
I
I
I
]
LI
]
L)
1]
1
11
1
L
Nl
I
I}
11
T
(K|
LIl
1]
T
1
"
(]
11
{1
72.000 MAX. ACTUAL
LOUVER WIDTH

ﬂw 8
S
=) {4
L §
£
9510 IHIBH N3ANOT TVILOY "XYN 000'FFL 9510 mm
05'0 0L . ogo oL S
“gul 0STD — 1HOEH 3AITIS 40 3AISINC XYW CITrri ‘dAL 0620

JHOBH ORINGDO WANCT




NOILVAI 14
Q109—HH3 2

ON_ ONIMYIT 0¥ m.mmmm anu.a
INNOW FT9ONVY SNONNILNOD oy v, ~
1Z 40 ¢ ! Sisiif g o ;
Y3IANOT QLO9—HH3 S3es8) ¢ ¢ ~
'ON_133HS 37111 E Msmmn P ¢
Al 01r0-94% %S NISNOJSIM @ C mmmmm mm.m 2

3WIS ‘113140HIS 01y X04'0'd M Cgp

0L0¢/Gc/8 SN 285

/ uﬂa AS NAYYD %@@E@M@@@ 35¢&

&

1 7
%ﬁ@é@ﬁ@ﬁ%ﬁ@ﬁ@ﬁ%ﬁ%ﬁ@ﬁ%ﬁ%@%ﬁH“ m

‘L
mw aw a5
pet =

B __5B

-
__1
i
A — b el A HHAHHHHHWHHWHHHHHHHHHHHHHHH J MM
:
%
- ”anHHHHHHnHHHHHHHHHHHHWHHHHHHHHHHHHHHHHUHHHHHUHHHH *
w i
@s
@Wﬁw
BN L H A H B R A A EE AR R F R AT mm
:
@
e
3
o S T % 1 m
r i 1HO[3H ONIN3<0 ¥3ANON




.

- —fobit 1

-4

Wl
A
o

5
!
.y

TN

w_

10 0.50
0.156

0.250 TYP,

LOUVER OPENING HEIGHT
144.313 MAX, OUTSIDE OF SLEEVE HEIGHT

144.000 MAX. ACTUAL LOUVER HEIGHT

o)

j i

0.250 TYP,
o TO 050
0.156

&
3

=— 0.158

| . 36.000 MAX. ACTUAL

| 38.000 MAX. ACTUAL |, 38.000 MAX. ACTUAL _ |
LOUVER WIDTH LOUVER Wi LOUVER WIDTH

o
[
~J
[¢ ]

OUTSIDE COF SLEEVE WIDTH

| . 36.000 MAX, ACTUAL _ | 36.000 MAX. ACTUAL . 36.000 MAX. ACTUAL _ |
LOUVER Wi LOUVER WIDTH LOUVER WIDTH

UNUMITED LOUVER OPENING WIDTH

-
(-]
~N
B —
L O (@N (0
T v—
= 00 I_,_DO
O | WO
s |
m¢. —
| NE M T
==l F T
s & 2 W
= S L7 T [ 72 ]
O
ﬁ_
agl |
2oz o
SET| O
Sl N w =
LAz 5 = 2
=o < >z
2 S N et
W=zl > <C
@mu 2 W >
g% O O > Ll
@0.‘3 S o I
< W W
O &
— = W
O
(0]
|
L_JI
oI
=
=

RICE

ENGINEERING

105 School Creek Trait
Luxemburg, Wi 54217
Phone: 920.845.1042
Fux.  920.845.1048
VAW.CE-INC.CoM

Texas Firm No: F-2183

L David Rice
Registration No: 81248 /
y &

AUG ¢ v 2013




O
O
~N
/23 zZn CROSS SECTION /23 o) %
N N N
r r r = .
|'q % 3 E 3 £ 3 = F = | 5 0 |—|—DO
I I - I - = ) [ - & & [ I -5 I O = LC)
Ly |[]|]| 1][ W [H! ] !]_j % I
=Ll Nz pr T
(18 =1 &
3/7 = T
‘ e s ElE EY
I
I O
- o <t
3 i se| 1%
0y (4 [
30 J S2E 8 2
[lf I@ T ; ~
Eﬁ ACHT] T -
4 —J
i = =zl x O O
I M‘ n W = —
o =z > l_
' % g5 < <
il /M
§ { & 2 2 9 W L
b y b E@I /20" a = 8 o
% i[{: (4/2) O 5
¥ 41 - =
St O =
2 q © =
i ] 15
X !
g mi 2T °
i -
g {i»r =
% I
; RICE
I ENGINEERING
b 105 Schoo! Creek Trail
I Luxemburg, Wi 54217
i Pnone: 920.845.1042
x |ﬁi Fax: . 9?0.845.1048
. [iﬁ wvw Nce-inc.com
E‘ﬁ I Texas Fim No: F-2183
a2 =e lﬁeg;‘;gg? No: 81248
port =4 4 :
: Eﬁ 774
[ 3/2 >
=
AR VERTICAL '
[ 38.000 MAX. mﬁTHUAL . . 38.000 mm%m . [ 38.000 mx.ms'cmm . CROSS SECTION
0.125 WP, __| | 38.000 MAX. ACTUAL _ _| | 38.000 MAX. ] | 38.000 MAX. ACTUAL __|
0.375 LOUVER WIDTH LOUVER WIDTH LOUVER WIDTH
UNLIMTED LOUVER OPENING WIDTH
[AUG & 7 2013




HEAD DETAL BUILDING. STRUGTURES INCLUDE BUT NOT
5 g LS el T // LIMITED TO WOOD FRAME, STEEL STUDS,
° g 7/ STRUCTURAL STEEL AND CONCRETE/MASONRY
2 e (BY OTHERS).
£ g :l\
2 w0 X @ 1257 1°-8 6" 0.C.
33.@_ ] / /| SPACIN 8/CONNECTION
1] @ g 728/ -10" y, :
? ? v ‘\' : l @
d— — ] — _— — | Ry
& oc. IRE
SPACING |
ALTERNATE REAR WELD LOCATION |
1257 0.75" I
|
O
® ||
l
|
1/HEAD,BLADE,SILL |
|
3 |
P . ®
5 . g2 = N [y B
o 35 e CK 1 ALTERNATE REAR WELD LOCATION B
g 8 Su 4 ) — b | P 25 G
: gg (2) ‘%T"v‘:‘? | 18" 0.C :
. i RN
. 4 T SPACING ,
I .( |
g (% A
/ »"“ S = ¥ | @ }
ol || '
Sl l |
(98 J I l | l 1
B B WG |
s n hn ) = |
9 Z g S @ f | T s |
| 2 g 67 \0.C. I\ |
! | ) Ex\-\\\\‘h\“‘\“\‘\é SPA iNG | I I 1 ﬁ
Y 1D - ‘ !i.
& & l ) (SDx_ 125]/7 2;2/W|7T'-_10" g\mT-_: |_|__ L _8_

TIr ?@
nas © 6" 0.C. |
F e S0 s neT
=0 | 24 ) LOUVER HEIGHT < 144 IN. LIMITED TO WOOD FRAME, STEEL STUDS,

=) STRUCTURAL STEEL AND CONCRETE/MASONRY
(BY OTHERS).

1
8

18

HEAD DETAIL
LOUVER HEIGHT < 144 iN.

WELD PERIMETER

;5

&

(2

SILL DETAIL

LOUVER HEIGHT < 144 IN,

WELD PERIMETER

@ CAP

EANAN

)
(@]
o
™~ —
< QV =)
= —
=
O =2 O
z |
U-)N' -
SL‘E—' ;%LOC%I
2T - L
2 S £ 2 b
[mm] (%] %2 [
<
oo <
= —
%Hé} Vi
L v
U 22 W -
ol > W &= S
Ewg D s 2w
= < 2D
= O =
m;z 1 xx O <
%] L = -
W=zl o L
@E}ﬂ o O >
o= coZLL:j-_,J
LS Y H
LC o
Lol o3
2
- L
= T
=

RICE

ENGINEERING

105 Schoot Creek Trail
Luxemburg, Wl 54217
Piong 920.8451042
fFax  920.845.1043
wyvnTice-ine.com

' 2xas Firm No; F-2183
.. David Rice
Reogistration Np: 81248

AUE—= 52013




BUILDING STRUCTURE/DEPTH MAY VARY,

LOUWER OPENING

OUTSIDE OF SLEEVE
ACTUAL LOUVER HEIGHT,
INSIDE OF SLEEVE

@\

,t-', © BLADES

’
G0

25717

125,71

ALTI

/%’% 357 0.75
2 18] 0. /
’ SPACING
-~
s"-‘:‘

[

()
o
Q]
i/
—

B

O

HEAD DETAIL
n LOUVER HEIGHT < 98 IN. BUILDING STRUCTURES INCLUDE BUT NOT
5g A // LIMITED TO WOOD FRAME, STEEL STUDS,
S g W STRUCTURAL STEEL AND CONCRETE/MASONRY
2o @)\Gi (BY OTHERS).
S8gq . I o5 6/ CONNECTION
O~ o i
119 s ¥ A7 1=107 =
[
i 3 —dm—— o — — — — — — —
I i = .
T |
©/ A28/ 1 |
S |
> I
>, g
(““ |
O o "g“‘ TERNATE REAR WELD LOCATION |
T25],7 ! 125],70.75" |
9 g\\u'?'-.sgj- |
~—@ !
"
1
|
|
I
I
|

ERNATE BLADE REAR WELD

£

W
f L O ©
2 5 6" \0.C. v
q o / Ly ST [‘3 ?:E ﬁ
¥ RN e raa JE—— =
T —r ——— ——— — -
2 %
g8l s @f
s ATy 7 6/CONNECTION
&
E E BUILDING STRUCTURE/DEPTH MAY VARY.
q 8 L~ BUILDING STRUCTURES INCLUDE BUT NOT
pet @ SILL DETAIL / LIMITED TO WOOD FRAME, STEEL STUDS,

4A LOUVER HEIGHT < 96 IN.

&

STRUCTURAL STEEL AND CONCRETE/MASONRY
(BY OTHERS).

[

g WELD INTERIOR

SILL DETAIL

LOUVER HEIGHT < 96 IN.

LOUVER HEIGHT < 96 . (6) i
; )
o~
™~ —
L& N | O
O —
= 00 b 4 O
O |F ©
% . z |
| N2 © 2 T
==l BT
g I3k 7 L
[=] %2 %] (8]
‘ ©
S¥E Vi
oI
~Ll OLL| T
S wen e G,
INTERIOR |3Ea3| 5 = 2 V)
< 2D =
V) L =
W=z o O
2> =Bl S g
@:}2 o O > _j
oaxl O Z Wi _
I S Y ®
% e .
(|
()
/ <E
Lt L
- T
/ -
ENGINEERING
105 School Creek Trait

Luxemourg, Wi 54217
Phone: 920.845.1042

Fax:  920.845.1048

WWLHICe-InC.com

Texas Firm No: F-2183
L. David Rice
Registration No: 81248

@ CAP

AUG 2 9 2013




o\ LONER HOMT € 144 B

&

SUBSTRATE LIMITED TO WOCD,
STEEL, CONCRETE AND
MASONRY (CMU) (BY OTHERS).

MULLION DIRECT MOUNT (SHOWN HERE AT
HEAD) IS FOR SUBSTRATES WHERE MINIMUM
FASTENER EDGE DISTANCE CAN BE ACHIEVED
BY USE OF HOLES IN THE MULLION END CAP.
DETAIL IS TYPICAL FOR BOTH HEAD AND SILL
CONDITIONS WHEN APPLICABLE.

9

nnaw.mm——l e

ACTUAL LOWWER HEXHT

77N\ LOVER HERMT £ 98 B

&

SUBSTRATE UMITED TO WOOQD,
STEEL, CONCRETE AND

MASONRY (CMU) (BY OTHERS).

MULLION DIRECT MOUNT (SHOWN HERE AT
HEAD) IS FOR SUBSTRATES WHERE MINIMUM
FASTENER EDGE DISTANCE CAN BE ACHIEVED
=1 BY USE OF HOLES IN THE MULLION END CAP,
DETAIL IS TYPICAL FOR BOTH HEAD AND SILL
CONDITIONS WHEN APPLICABLE.

B crorrorpecercereeds

—] fe— 128 TYP, TO 0378

EXCESS MATERIAL BEYOND FASTENER
EDGE DISTANCE IS ALLOWED TO BE

REMOVED (THIS LEG ONLY).

2

SUBSTRATE LIMTED TO WOCD,
STEEL, CONCRETE AND <RI
MASONRY (CMU) (BY OTHERS).

=

MULLION ANGLE MCUNT {SHOWN HERE AT SILL}
IS FOR SUBSTRATES WH MINIMUM FASTENER
EDGE DISTANCE BE ACHIEVED 8Y USE
OF HOLES IN THE MULLION END CAP. DETAIL

SLL DETAL
( 'Y \Mm‘i“ﬂ.

&

IS TYPICAL FOR BOTH HEAD AND SILL

] CONDITIONS WHEN APPLICABLE.

SUBSTRATE LIMITED TO WOOD,
STEEL, CONCRETE AND
MASONRY (CMU) (8Y OTHERS).

m LOUVER HEQHT € 08 0L

o

yd ! — :
T | A [ R¥LrS h_ b
I-‘ _____ b Ldchmon
: E E. TR " 0 \ I :":"ll —I' 18::.@:5;:;;_&1!3
T e o oo I § > TR “!= Tl | SPACING \@
\: a A : 2 T8 || |
' [ \(@
@ l % (RETYPICAL 0 SLADES €Ty l
| S e 7 JI] o
1/BLADE,HEAD, SILL | e < ot ’ 1/BLADEHEAD.SLL
! ;
E [
ALTERMATE REAR WELD LOCATION i g 5 ” l ] %aﬁ_m LOJ“L"
25 0.75 1 g 5 | | 1 \@
18° 0.C.
SPACI
WQE) d il
@
| (!
@ |/3 IH/D ~
| 5 iy O A3
1|
| 1668 8/enD ¢ 3 ne y 6/END
| @ ; L ‘;/@
- 1 f l 1 1 l..L 1 = ﬁ
t

<

TR,

|

<R

EXCESS MATERWL BEYOND FASTENER
EDGE DISTANCE IS ALLOWED TO BE

/@ REMOVED (THIS LEG ONLY).

: HULIJDNANGLEHOUNTSEOWNHE!EATSI
IS FOR SUBSTRATES WH

EDGE DISTANCE CANNOT BE ACHIEVED BY USE

OF HOLES IN THE MULLION END CAP. ODETAIL

IS TYPICAL FOR BOTH HEAD AND SILL

CONDITIONS WHEN APPLICABLE.

MINIMUM FASTEN

8/25/2010

DATE

/7 OF 21

1:3
CAD DRAWING NO.

MES
SHEET NO.
EHH—-601D

DRAWN BY
SCALE

P.O.BOX 410 SCHOFIELD,

WISCONSIN 54476-0410

GRIEENRIECK

EHH—-6010 LOUVER
CONTUNIOUS ANGLE MOUNT
HEAD & SILL DETAILS, H<L1447,
HEAD & SILL DETAILS, HL96™

5| 5

vy

|

ENGINEERING

105 School Creek Trail
Luxemburg, Wi 54217
Fheone: 920.845.1042
Fax. 920.845.1048
LA CE-INC. COMm

Texas Firm No: F-2183
Mawd Rice

~anae Mot 81248 /
/

AUG < ¥ 2013




SETERELTA
A109—HH3 2
INNOW 3AZTTS Ssces M
T JAVHA FONV wmmmmm
= 23338 g ¢
b¢ 308 HIANOT ALO9—HH3 SEeRsE ¢ S
ON_133MS JULLL I Zoes € g8
Z1 01%0-9Zb PG NISNOJSIA O Mplezi EdE
31938 ‘@13140H2S 0Ty X09'0d . T mwm
N 85§
ow0z/sZfe s | MOSHNEEYD =

N

1/ BLADE,HEAD h
SUPPORT DETALL
/10 LOUVER HEGHT < 144 N

Tt

O
SILL

= /

6" O.C.
SPACING

HiLSD

-8
6" 0.C
SPACING

25

125

QUTSIDE OF SLEEVE ———

INSIDE OF SLEEVE
Fe—————— LOUWER OPENING

125

ACTUAL OVERALL LOUVER WIDTH,
m JAMB DETAL
=/

0.158 —| =—— ACTUAL LOUVER SECTION WIDTH, ——

LU sU00U ‘ cﬁ

Qr i
*(S¥3HLO A8) d

AUNOSYN/31FUONOD ANV 133LS TVANLONALS
‘SANLS T33LS ‘3Wvd4 QOOM OL J3LIAN

1ON 1N9 3JAQNTONI SIJNLONALS ONITING
"AUVA AVA HLd30/3¥NLONYLS ONIGNg

v
i

0.125 TYP, TO 0.375 ——

12" 0.C.
SPACING




(]
O
N
N —
& o\ -
2N -
= O L . O
O I ©
g?gEsLTR%E LIMITED TO WOOD, 2 |
, CONCRETE AND MASONRY ) g =
(CMU) (BY OTHERS). =yl 27 @ %
= L = =
= 5 L
N\ & S B BE™
0.75 MAX p
| N —
0.75 MIN J 1/BLADE,HEAD,SILL = <
6" 0.C. O >
P I} SPACING Ol O
MR W =
- oY| > (0]
E Z20N e B T 1
o, O .
< === s - 2 =
——=h ) g = Ll
ALTERNATE ORIENTATION — | W=zl o < O
(CAUTION, BOLT CLEARANCE) % 22l o v m
“3 © D
1o =
T - )
T— =
i
75 =
O
W )
-
l_—
o
- ENGINEERING
. ACTUAL OVERALL LOUVER W I Creek Trail
0.125 TP, T0 0.375 TN TOOVER SECTION worn! lgie?ncm. wi 542r1a"r
LOUVER OPENING Phone; 920.845.1042

Fax:  920.845.1048
WWW.ICE-INGC.com

Texas Firm No: F-2133
JAMB DETAIL SUPPORT DETAIL L. David Rice
m LOUVER HEIGHT < 144 IN. 12\ LOUVER HEGHT < 86 IN. Registration No: 81248




(]
-
NS
& -
@ a =~ —
®\ < 00 L | S
7 . OCE ©
] 18" 0.C. % /@ /@ o ]
SPACING .
8/CONNECTION © LB g @5 T
/ = = L) T % I
Y - SR U
18" 0.C. 1 @ @ 18" 0.C. @ ) g & |» S
SPACING [ ?_ SPACING - w
L/ QZQQ\
1O | © ? (8) 6/CONNECTION | O) © 89
ol ol 52
Dol @
1O | O o ||| o mEed & o
4 7 2 oI = Wik J
| 8 & JIC 3 5D = £ g
7 Al | =o | O < 2 F
" a 3 2 SZ O O W
6" 0.C. y 6" 0.C. g g~ 5 L = O
SPACING I \@/ =7/ |l SPACING 3 %ég S L=
- _ ol © O > O
, e ¥ @ ez O Z W —
= - ! < Wl
= - l — —
b = T o
-—® e
»0)
% L
- ® O— 2
= RICE
) ENGINEERING
, A 105 Scnool Creek Trail
g @—— o 2 Luxemburg, Wi 54217
= -—(55 Phone: 920.845.1042
) ) Fax:  920.845.1048
®\ I I (K I[I‘:E:"]] WWW.TICE-ING.com
[I‘_H;] Texas Firm No: F-2183
L. Dawvid Rice
<3{ \ EXPANSION JOINT OF UP TO 0.25 MAY @{ 6{ EXPANSION JOINT OF UP TO 0.25 MAY
BE USED ON LONG OVERALL WIDTHS. BE USED ON LONG OVERALL WIDTHS.
—  ACTUAL LOUVER SECTION WIDTH e ACTUAL LOUVER SECTION WIDTH ——— — ACTUAL LOUVER SECTION WIDTH ACTUAL LOUVER SECTION WIDTH —— ‘
ACTUAL OVERALL LOUVER WIDTH ACTUAL OVERALL LOUVER WIDTH
MULLION DETAIL




P ISH 'STVL3A NOITINW :
AL09—HH 2
(N DONIAYAT 09D 5 mmmmm
INNOW JF1ONV SNONNILNOD E*.-.s..mm
Z 58333 3 2
L¢ 30 L1 4IANOT GLO9—HH3 amgmwm 5
'ON_133HS 37111 E ﬂsmM g g 3
c701 0170-94¥¥S NISNOJSIA C FMmmam mmm
ERAON ‘@713140HIS 01y XOg9'0'd % Fadw 2 m..mm
L A manw.
ovoc/se/e san | NOSIAINEEED > £

'AUS 29 2013

HLOW WEANDT TMEAD WLV

HIOW NOLDES M3ANDT WDV

HIOW NOLLO3S ¥3AN0T WRIDY }
"SHIOW TIVMIA0 ONOT NG 43SN 38
AYM SZ'0 OL dN JO INIOP NOISNYSQ \@

-
R IBAT R
-

"T18YINddY N3HM SNOLLIONOD

THS ONV Qv3H HL08 ¥0d TWOIdAL SI

WVIIA  dvO GNI NOIMINW 3HL NI S3TOH 30
3SN AB G3A3IHOV 38 LONNYD 3DNVISIO 3903
MINALSVA NNWININ UIHA SALVULSENS HOd SI
(TUS 1v 3M3H NMOHS) INNOW FIONV NOMINW

/ O O O O
3 /
o o o oA Jl o O O
/ 7
S S || /A Al
3543 m_.cqm_._.wmbm\ d \\\
I
/ 77 )

O
O
O
O

MULLICN DETAL
m LOUVER HOIGHT < 144 W
nm

“TIBVONddY NIHM
SNOLUANGD TIS ONV Gv3H HL08 HO4 TVOIdAL

Sl IVI3Q 'dvO AN3 NOMNNW 3HL NI STIOH
40 3SN A8 G3AIHOV 39 NVD 3IONVISIC 3943
MINALSYS NNNININ JMIHM SALYHLSENS ¥O0d S
(TS 1V 343H NMOHS) INNOW L1D3¥I0 NOITINW




N
96>H ‘STIvi3d NOIMINW N
a109—HH3 ° 2 N
o NOW T19NY SNONNILNOD MMWMMm
EN J1ONY N Sogf
'z 40 2! ’ Shat .,
Y3IAN0T dLO9—HH3 SEesE] ¢ &
ON 133HS ILIL E msmmm Mem.on
Gzl 01+0-9/b S NISNOISIM C mM%@w .mm.w.
30 ‘Q13140HIS 0lb X0€'0d @ M mmr
- 4 =N
otoz/sz/8l sIn 1 NOSIHINEEHD

HIOW WEANGT TMEAD WLV

HLOWA NOLDIS WEANCT WALV HIOW NOUJ3S ¥3ANO0T WUV

‘SHIQIM TIVMEAO ONOT NO d3sn 38
AVH §2°0 OL dN 40 INIOM NOISNYDIQ L\@ %
T 5 I

|
Of
|
.
Qf
|

H

|

|

|
Qd'

L
3943 Es&mm:m\ & @\ QT @/@ 308 @@\ mW

aN3/9

“TavONddy NIHM SNOLLIANOD
TS ANV OV3AH HiCH ¥04 TVOIJAL S
/ VIAA  °dvD N3 NOIMINN 3HL NI ST10H 40

95N A9 G3ATHOV 38 IONNVD 3IONVISIA 3903
M3NZLSYS NNWININ 3MIHM SAIVAISANS ¥0d SI
{TUS 1v 3:3H NMOHS) INNOW 19NV NOITIW

HIOW NOUJES WEAN0T TV

"SHLOW TVAEAO ONGT NO 035N 38
AVM SZ0 OL dift 40 INIOM NOISNYA L\@ \@v

: NIOVdS
"0 .9

MULLION DETAIL
/18, LOUWER HEIGHT £ 96 .

/ MK /
ONIDVdS
3903 ILVALSANS @\ 1] m%w 0 .81
“N18vONddyY N3HM

SNOILIONOD TiS ONV Qv3H HL08 ¥OJ TWDIdAL
S| WI3A  "dvD GN3 NOMINW 3HL NI STIOH
40 3SN A8 G3IAIHOV 38 NVO 3ONVISID 3903
HIANALSVY WNWINN 3YIHM SAUVAISBNS HOd SI

(TS Lv 343H NMOHS) INNOW LO3¥IQ NOMINW




(e

HEAD DETAIL
LOUVER HEGHT £ 144 M.

&

6-

SPACING

0.C.

HEAD DETALL
. LOWER HEGHT < 144 .

6" 0.C.
SPACING
&

12° 0.C.
SPACING

1““11 I l

]

W\
-

\

C)&€35§§%
SPAC !NG
03 .

LOWER HEGHT £ 144 N

$iL DETAL
LOUVER HEIGHT £ 144 IN.

A
=/

12° O.C.
SPACING

8/25/2010

DATE

15 OF 21

MES
1:2.5
CAD DRAWING NO

SHEET NO.

EHH—-601D

DRAWN BY
SCALE

~
o

P.O.BOX 410 SCHOFIELD,
WISCONSIN 54476-041

GRIEENAIECHK

EHH—-601D LOUVER W/VCD-40
FLANGE FRAME W/SLEEVE MOUNT,
HEAD & SILL DETAILS

& CONTINUOUS ANGLE MOUNT

)
o
)
TITLE

ENGINEERING

105 School Creek Trait
Luxeinburg, Wi 54217
Phone 920.845.1042
Fax:  220.845.1049
WAW.NCE-INC.COM

Texas Firm No: F-2183
1.. David Rice
Reistration No: 81243




——

T

/ -
._7:'_"
\

~

™~

€

2 REQ'D

! /]
\‘j / MANUAL QUADRANT ACTUATOR AS SHOWN
//,// NOTE: DAMPER MAY BE OPERATED BY
. /17 MANUAL QUADRANT, AN ELECTRIC OR

PNEUMATIC ACTUATOR.

——

]
Q)
<~

)

e

—
—_—

)

JeR
N
AN

@ @

—-—
el
 —

&

e T

-

!

al
——-|l
i

Q)
@-

[
AN

ACTUATOR DETAIL
@ 20 \ LOUVER HEIGHT < 144 IN
3/ACTUATOR ASSY. AND 12" 0.C. THEREAFTER w
@ ALONG LENGTH OF ANGLE ITEM #44

(]
o
Q —
N
— A
< 00 L. o
O g O
<+ E
[f) . —_
sl N2 2 T
==l BT
=)
= %
s =
e
eS| ® .
o< W D
;a —
Loy A 5
2o = I
g~z =
<2 2
—
5859 9 =
@n.') | &/
() |
O <
= >
=
<[
=
Lo
|
—
=
ENGINEERING
105 Schioo! Creek Trail

Luxemburg, Wi 54217
Phane: 920.845.1042
Fax:  920.845.1048
WWW.TICE-INC.COMm:

Texas Firm No; F-2183
L. Davi¢t Rice
Registration No: 81248

2
.‘ 48 ; Ml TR Yo 0 pr=
/ WQHAL BN

A%

"AUG 29 2013




0.188 —

Q128 TYP, T0 0378 —o| ke————— TOD DUTEDE OF SLEBVE

VCD-40

EHH-8010

AR AN
A SSS ANWAN |

ravrd

e f{(@"@@@

&

o
©
©

:

i

%
& - s

—— ACTUAL LOWVER SECTION WITH ——=-F=——— ACTUAL LOUVER SECTION WITH ——

22\ LOWER HEGHT € 14 L
]

vCD-40

EHH-801D

18" 0.
GIWM

S DPANSION JOINT OF UP TO 0.25 MAY
BE USED ON LONG OVERALL WIDTHS.

ACTUML OVERALL LDUMER WIDTH —

{ an\ roregt- L
.

Texas Firm No; F-2183

o
o
< —
e N A
2N
Z L 6
O g
z O
z |
0o 2 T
gEu‘_E & T
s 3 |4 2 L
=] %) %] (&5 ]
O
~ 9!
¥fje | =
< (o) <
S| 9 &
G2l < O
Ev \L,_q —
Loz =S Z2 o
MQE X o O =
vl WL s 4
W=zl > —
BER0| 2 W w 2
@Cj& O > =
az - = w
o 3 HC
- L v g
)
©0 m
I <C
“NIT )
E L
=
ENGINEERING
105 School Creek Trail

Luxemburg, Wi 54217
Prone: 920.845.1042
Fax.  920.845.1048
www.rice-inc.com

LAUG 29 2013




(]
O
Q —
2
'---
< 00 L 5
O o
= O
O z |
(f) —
sl D2 2 T
prd = L |L:I % I
MULLION END CAP NOT SHOWN FOR CLARITY Z |2 o a L
x 3 15 S
MULLION END CAP NOT SHOWN FOR CLARITY
. O
18° Q.C.
spmuc% , 49 Q . T E n
__‘ —4 —
€zl 9> I
@ = QL O L
O g =S
= H S
I L
ol o 2 6
2zl ® O O
M v W = 1
W=z > <
VED-40 S S0l D D
vCo-40 o2 O w =
@ azl < D ~
O
ALTERNATE ORIENTATION —| o =
(CAUTION, BOLT CLEARANCE) EHH-801D © E @D
_,_@ EHH-801D | 5 =
L - - <
oL -
g
|-—
SUBSTRATE UIMITED TO WOOD,
STEEL, CONCRETE AND MASONRY
(CMU) (BY OTHERS). RI CE
N = ENGINEERING
L_ 105 School Creek Trait
Q128 TP, TO 0578 —o ﬁw% ﬂ}——- !f:‘\h:»e:"gb L;ZQOQSS:(&;
o LOUVER OPENMO Fax: 920.845.1048
WRIW.TICE-INC.ComM
Texas Firm No: F-2183
L. David Rice
= (R T £ 144 £ 2\ LOUR NOT £ 184 Bt Registration No: 81248
&, & y;
i
G:S"
Wil
AUG 2 9 2013




NOTES:

1. OTHER SHAPES MAY APPLY PROVIDING THEY ARE
SIMILAR TO THOSE SHOWN AND HAVE CORNER
CONSTRUCTION AS DESCRIBED ON ALL SHEETS.

2. ALL SHAPED LOUVER PANELS ARE RESTRICTED TO
THE SAME PANEL WIDTH AND PRESSURE AS THE
RECTANGULAR LOUVER PANELS AND MAY BE STACKED
VERTICALLY AND HORIZONTALLY THE SAME AS THE
RECTANGULAR PANELS.

3. WHEN SECTIONS EXCEED 36" IN LENGTH BLADE
SUPPORT ANGLE AND BRACKETS ARE REQUIRED.

AVAILABLE SHAPES

=

8/25/2010

DATE

17 OF 27

CAD DRAWING NO.

MES
EHH—-601D

DRAWN BY
SCALE
SHEET NO

L
£

S =

TUNENE@E

A\

P.0.BOX 410 SCHOFIELD,

WISCONSIN 54476-0410

GRIEENRIECIE

EHH—601D LOUVER
W/ AND W/O VCD—40
AVAILABLE SHAPES

TITLE

RICE
ENGINEERING

1G5 School Creek Traf
Luxemburg, Wi 54217
Phone: 920.945.1042

Fax 920.845.1048

vANW.fiCE-inc.oom

Taxas Fim No: F-2183
L. David Rice

Registration No: 81248 //




TTEM DESCRIPTION MATERIAL NDTES ITEM |CONCRETE ] CHU [STEEL| woOD|__MIN. ] FASTENER TYPE ALL FASTENERS ARE STEEL OR STAINLESS 9
1 LDUVER HEAD 6063-T5 ALUNINUM S2 | JAMD PERIMETER ANGLE FASTENER, HEIGHT <=144 DIAMETER] ¥ RGD, |CENTERS] EDGE |EMBED. * o
2 LOUVER BLADE 606313 ALUMINGM 2.185° MAX, SPACING S52A X 2KS1 "POWERS WEDGE BOLT 3/8 | VARIES| 600 | L215 | 3.500 ~
3 LOUVER SILL 6063-73 ALUMINUM 523 X 4KS] “POWERS WEDGE BOLT’ 3/8 | VARIES| 6.00 | 1215 | 3.500 ~ i
4 LOUVER JAMB 6063-T5 ALUMINUM [ 52c X 2Ks] SCOTS TAPCON 7 TAPCON 1/4__|VARIES | 475 | 1500 | 1750 To) N O
5 LOUVER/DAMPER FLANGE 6063-T5_ALUMINUN 52D X 4KS] SCOTS _TAPCON /_TAPCON 174 | VARIES| 600 | 1500 { 1750 W ON
6 FORMED SLEEVE 5052-H32 ALUMINUM 1/6° FORMED SLEEVE-DEPTH VARIES | | Set X 15KST_|__SCOTS TAPCON / TAPCON 174 | VARIES| 3.00 | £500 | 1750 N L A
74 11/2 X § 12 X 1/4 ANGLE 6063-T5_ALUNINUM BLADE SUPPORT ANGLE 3 X 65KST Fy|BOLT/NUT OR TAPPING SCREW] 1/4 | VARIES| 600 | 0500 | 0425 = 00 . O
7B 1 1/2 X 1 1/2 X 1/4 ANGLE 6063-T5_ALLMINUM USED AT HEAD/SILL/JAMBS OF SLEEVE| | 526G — [ — | _X_| s 042 LAG 3/8 | VARIES| 600 | 1.500 | 2.375 O g O
8 1172 X 6 X 1/8 ANGLE 6063-T5 ALUMINUM JAMB ANGLE 53 | MULLION END PLATE FASTENER, HEIGHT <ai44 DIAMETER| # RGD. [CENTERS| EDGE |EMBED.® o
9 11/2 X § 1/2 X 1/8 ANGLE 6063-75 ALUMINUM USED AT HEAD/SILL/JAMBS OF LOUVER| [S3A X 2KSI *POWERS WEDGE BOLT” 3/8 | 6/END | 150 | 175 | 3500 o 2 |
10 1172 X 1 1/ X 178 ANGLE 6063-15 ALUMINUN USED AT HEAD/SILL OF SLEEVE FLANGE| | 53B X 4KS] *POVERS WEDGE BOLT” 3/8 | B/END | 150 | 175 | 3.500 . ﬂ = > T
1 3 X 6 X 5/16 STEEL TUBE A36 53C X 2KSI SCOTS TAPCON / TAPCON /4 | 9/END | 200 | 150 | 1625 5 — &
12 11/2 X 1 172 X 1/8 ANGLE 6063-T5_ALUMINUM USED AT SILL_AS BACK OF SILL PAN | | SoE X aKS1 SCOTS TAPCON / TAPCON 1/4__| 8/END | 200 | 150 | 1625 z<l |5 s 1
13 LDUVER BLANK OFF 5063-T5 ALUMINUM TF_REQGUIRED, SPANS SILL OPENING S3F X E5KSI Fy|BOLT/NUT OR TAPPING SCREW| 1/4 | 8/END | 100 | 0.50 | 0.25 2 12 |o = L
14 DAMPER HEAD/SILL 6063-15 ALUMINUM 536G X | SG 042 LAG 3/8 | 7/END| 150 | 175 | 2375 |GROUP| (X |© (T g
15 DAMPER JAMB 6063-75_ALUMINUM - S4 | MULLION ANGLE MOUNT FASTENER, HEIGHT <ai44 DIAMETER| # RGD. |CENTERS| EDGE |EMBED.*|CENTER
16 DAMPER BLADE 6063-T5 ALUMINUM 3.75 MAX, SPACING S4A X 2KSI "POVERS WEDGE BOLT® 3/8  |18/ANG.| 3.375 | 2250 | 3.500 | 3.766
17 DAMPER BLADE SEAL SILICONE/RUBER TYPE MATERIAL VARIES (548 X 4KST "POWERS WEDGE BOLT’ 3/8__| 9/ANG. | 3.375 | 2250 | 3500 | 3.766 —
18 DAMPER JAMB_SEAL sS S4C X 2KS1 SCOTS _TAPCON /_TAPCON 174 |32/ANG.| 2.000 | 1500 | 1750 | 3.375 So z
15 | DAMPER JOP/BOTTOM CLUSURE ALUMINUM 54D X 4KS1 SCOTS TAPCON / TAPCON 174 (27/ANG.| 2000 | 1.500 | 1750 | 3.375 % = 5z
204 DAMPER LINKAGE BAR GALV. STEEL S4E X 1SKSI | SCOTS TAPCON / TAPCON 174 |32/ANG.| 2000 | 1500 | 1750 | 3.375 Wh: - o =
20B DAMPER LINKAGE BAR —ss S4F X 65KST Fy|BOLT/NUT_ DR TAPPING SCREW| 174 | 16/ANG.| 1000 | 0500 | 0125 | 2.000 @ bl <t < o
21A DAMPER AXLE BUSHING DELRIN 546G X 65KSI Fy|BOLT/NUT DR TAPPING SCREW| 1/4 | 11/ANG.| 1000 | 0.500 | 0188 { 3.000 M Ex 0 l L
21B DAMPER_AXLE_BUSHING BRONZE S4H X GSKST Fy | BOLT/NUT DR TAPPING SCREW| 1/4__ | 16/ANG.|_ 1000 | 0.500 | 0188 | 3.766 o3 S O I<_E
| 2IC_|___ DAMPER AXLE BUSHING =3 S41 X G5KST Fy|BOLT/NUT DR TAPPING SCREW| 5/16 | 12/ANG.| 1000 | 0.625 | 0425 | 3.000 E ZIp = O %2, =
22A | NON-DRIVE DAMPER AXLE ASST. |ZC STEEL PIN W/DELRIN BUSHING EY X 5KST Fy|BOLT/NUT OR TAPPING SCREV| 5/16 | 16/ANG.| 1000 | 0.625 | 0425 | 3.766 | % o S = =)
228 | NON-DRIVE DAMPER AXLE ASST, |ZC_STEEL PIN W/BRONZE BUSHING S4K X_| SG 042 LAG 3/8 | 16/ANG. | 1500 | 1.500 | 2.875 | 3.766 @] ] M O n
22C_| NON-DRIVE DAMPER AXLE ASST. | ZC STEEL PIN W/ SS BUSHING S4L ] X | SG 0.42 LAG 3/8 | 11/ANG. | 1500 | 1.500 | 2.875 | 3.000 9 O D
22D | NON-DRIVE DAMPER AXLE ASST. | SS PIN W/ DELRIN BUSHING [ 55 | MULLION END PLATE FASTENER, HEIGHT (=96 DIAMETER| # RQD, |[CENTERS| EDGE [EMBED,* @ S8l AN Z O
22€ | NON-DRIVE DAMPER AXLE ASST, | SS PIN W/ BRONZE BUSHING S5 X 2KS1 *POWERS WEDGE BOLT” 3/8 | S/CAP | 150 | L6 | 3.500 @ R0 Z = =
22F | NON-DRIVE DAMPER AXLE ASST. SS PIN W/ SS BUSHING S58 X 4KST "POWERS WEDGE BOLT® 3/8 | S/CAP | 150 | 16 1 3.500 @ 02 o Z
23A | DRIVE SIDE DAMPER AXLE ASST. ZC/GALV, STEEL = X 2KS1 *POWERS WEDGE BOLT* 378 | 5/CAP | 200 | 175 | 3500 “3 H 0o 0 =
238 | DRIVE SIDE DAMPER AXLE ASST. ss 55D X 2CS1 *POWERS WEDGE BOLT 3/8 | 5/CAP | 200 | 175 | 3.500 | = O a8
24A 1/4 DIA. E-CLIP P _ SSE X 2KSI SCOTS TAPCON 7 TAPCDN 1/4 | 6/CAP | 200 | 150 | 1750 + << N
248 174 DIA. E-CLIP SS SSF X 4KSI SCOTS TAPCON / TAPCDN 1/4 | 6/CAP | 200 | 150 | 1750 Ly 9
25 | #8 X .75 TPH TYPE AB SMS ss 556G X 65KS] Fy|BOLT/NUT OR TAPPING SCREV| 174 | 3/CAP | 100 | 050 | 0425 L <> ll—'_—'
26 #14 X 75 TEK P _ S5H - X_| SG 042 LAG 3/8 | 5/CAP | 130 | 173 | 2.375 | GROUP L) = W5
27A 174-20 X 125 HH CS zr S6 | MULLION ANGLE MOUNT FASTENER, HC=96 TIAMETER| # RGD. [CENTERS| EDGE |EMBED.*CENTER| W >
278 174-20 X 15 HH CS ss (S6A X 2KS1 *POWERS WEDGE_BOLT” 3/8 | 4/ANG. | 3.375 | 225 | 3.500 | 3.766 L —
284 1/4-20 SF_NUT Zr 568 X aKS1 *POWERS WEDGE_BOLT’ 3/8 | 3/ANG. | 3375 | 223 | 3.500 | 3.766 Y 7p
288 1/4-20 SF_NUT sS 560 X 2KS1 SCOTS TAPCON / TAPCON /4| 11/ANG. | 2000 | 150 | 1750 | 3.375 -
29 REINFORCING STRAP __ 18-8 S8 56D X 451 SCOTS TAPCON /_TAPCON 1/4_| 9/ANG. | 2000 | 150 | 1750 | 3.375 -
30| 174-20 X 562 BALL SWIVEL ZP S6E X 15KSI | SCOTS TAPCON / TAPCON 174 | 11/ANG.| 2000 | 130 | 1.750 | 3.373
31A | DAMPER BLADE DRIVE LEVER SS_ SEF X €5KST Fy|BOLT/NUT OR TAPPING SCREW| 174 | 7/ANG. | 1000 | 050 | 0125 | 3.766 CE
31B_| DAMPER BLADE DRIVE LEVER GALV. STEEL S6G X €5KSI Fy|BOLT/NUT OR VAPPING SCREV| 1/4 | 6/ANG, | 1000 | 050 | 0125 | 2.000
2 DAMPER MANUAL GQUAD ASSY. "56H X_| SG 042 LAG ~ | 378 | 5/ANG. | 1,500 | 150 | 2875 | 3766 | T "on,
33 5/1€ DIA. LINKAGE ROD zP 561 X_| SG 0.42 LAG 3/8 | 4/ANG. | 1500 | 150 | 2875 | 3.000 EN GINEER,IN G
34 | %10 X 3/4° TPH SMS 18-8 SS 18-8 S GENERAL NOTES: B 1G5 School Creek Trail
S #10 X 1 1/4° SMS 316 $§ 316 S5 1. 1T SHALL BE THE RESPONSIBILITY OF THE PERMIT HOLDER TO VERIFY THE STRUCTURAL INTEGRITY OF THE EXISTING STRUCTURE TO SUPPORT THE Luxembl;'g-w'sﬂ‘gg
36 174" DIA SS SCREW 1 /2 LONG LOADS [MPOSED BY THE LOUVERS. LT o
T 1/4° DIA. SS SCREW 17 LONG 2. THE EHH-801D AND EHH-801D/VCD~40Q HAVE BEEN DESIGNED AND TESTED IN ACCORDANCE WITH THE FLORIDA BUILDING CODE {FBC) AND TEST Fax 920845
3 PROTOCOLS TAS—201 (IMPACT), TAS-202 (UNIFORM STATIC PRESSURE), AND TAS-203 (CYCUIC FATIGUE). THE EHH—801D/VCD—40 HAS BEEN TESTED WwFiCe-inG.com i
38 1/87 DIA. BLIND RIVET ALUMINUM IN ACCORDANCE WITH TAS=100(A)-95 (MIND DRIVEN RAIN). .
394 ]:\E:rn LOAD SHIMS NOT BY GREENHECK 3. WOONUM SNGLE . SECTON SZE S 7;' noe r’r‘a;‘:me HOH - oxas Firm No: F-2183 :
398 SEALANT AND BACKER ROD_ NDT BY GREENHECK . MAXIMUM ASSEMBLED LOUVER X [~ avid Rice :
20 S 174 X 2 X 1/4 ANGLE £063-T3_ALUMINUN USED AT _JAMD OF LOUVER/SLEEVE | " surmoms AL o oy SrED VERTICALLY PROVIDING A SUTABLE. STRUCTURAL SUPPORT IS’ OESGNED AND INSTALLED BY OTHERS TO O ation No: 81248 % :
a1 4" CHANNEL 6061-T6 ALUNINUM USED AT JAMB OF LDUVER/SLEEVE | & CONCRETE MASONRY SHALL BE ASTM €90, TYPE I, 2,000 PSt GROUT—FILLED. y
42 MULLION SLEEVE BRACKET 5052-.432 ALUMINUM 7. THE SLEEVE MOUNT STYLE LOUVER UTILIZES AN ANCHORLESS INSTALLATION METHOD THAT DCES NOT REQUIRE THE USE OF FASTENERS INTO THE i/
43 | 1174 X 1174 X 1/8 ANGLE 6063-T5 ALUMINUN WIN SIZE, JAMB ATTACRMENT ANGLE st atl il AR St e e e St S LSt D SR e R L SRR, ST L S C e S
44 SILL DAM ALUMINUM 8. THE CONTINUOUS ANGLE MOUNT STYLE UNUZES A CONTINUCUS JAMB ANGLE THAT IS ATTACHED TO THE SUBSTRATE BY FASTENERS. T MAY BE
] — INTEGRITY OF THE SUBSTRATE STRUCTURE.
46 STEEL MULLIDN END CAP (SM) STEEL FACTORY WELDED TO MULLION 9. LOUVER ASSEMBLY IS QUALIFIED FOR A MAXIMUM DESIGN LOAD OF +/— 150 PSF.
47_[ALUMINUM_MULLION END CAP (SM) 5052-H32 ALUMINUM TACTORY WELDED TO MULLION 10. LOUVER ASSEMELY WITHOUT VCD—40 DAMPER SHALL ONLY BE INST IN A LOCATION WHERE THE ROOM SEHND THE LOWVER o
48 | STEEL WULLION END CAP ALG STEEL FACTORY WELDED 7O MULLION 31. LOUVER ASSEMBLY WITH THE VD40 SAMPER MAY BE MSTALLED. - A~ LDGATION WHERE TiE ROOM BorIND T e BN SEene T
49 | ALUM MULLION END CAP CLG) |  S052-H32 ALUMINUM _ FACTORY WELDED TO MULLION | ' ppaN WATER PENETRATING INTO THE ROOM OR THE ROOM WILL HOUSE NON-WATER RESISTANT/WATER PROOF EQUIPMENT, COMPONENTS, OR
S0_[MULLION MOUNTING ANG. BRACKET| STEEL 36 KSI, OR 6061-16 MILLIDN WOUNTING ANGLE, RSTH | SUPPLIES.  LOUVER ASSEMELY WITH VCO DAMPER INSTALLATION IS LIMITED 7O AN ELEVATION OF 33 FT ABOVE. GRADE.
S A A TR A B 13, T Y040 LY 35 ORETATD) B T WAL SUDRMT STOUN ON pICE14/21, o BY A\ ELECTRC OF PNELKATE ACTIATOR. T DAMPERS
ﬁ-‘ms?ﬂs%nﬁ.;mm ?@%W&ﬁ.ﬁm kamgﬂs%:g‘smm 14. FRAME CONSTRUCTION. HEADS AND SILLS ARE SQUARE CUT. JAMBS SQUARE CUT @ HEAD AND SILL. CORNERS ARE SECURED WITH (2) #10x1-1/4
. SMS AND SILICONE SEALED. BLADES ARE SECURED TO JAMBS WITH (2) $10x1—1/4 SMS AND WELDED © EACH END.
1S. STEEL/STAINLESS—STEEL/ALUMINUM PARTS MAY BE MADE OUT OF ALTERNATE ALLOY THAT HAS EQUAL OR GREATER YIELD STRENGTH.
1ﬁ.mﬁémmm(MDOFMMESUWOHMKBS)AREONLYMWENMMLMSECMN WIDTH IS GREATER THAN




-]
S
e S ‘_
5.723 — 5.723 - - 6.000 - r——]— 1.063 1.250 r 2 N -
L
— j T P ™ | 5
° OFo®
E T ® 11— 0.08 o g |
1 .081 % - =
3 = ’ ﬂ ] N R .
S 2 =yl BT
‘ S R E W
o (= %] [ %] (48]
6063—T5 ALUMINUM 6063—T5 ALUMINUM l % LOUVER_SILL f | ° g
@ 6063-T5 ALUMINUM 2 o .
Ao =
0.125 i > o
SEHIER:
] | 0.250 0.125 LOUVER JAMB M%g B:_l =
S | ' ‘ @ 6063-T5 ALUMINUM 23 > w8 U
N g ] _{ C) I ) C>) —J
- , B W% 95 o5
= S o I —= W3 4 5 o o
; 3 6063—T5 ALUMINUM 8 W=z o =z X @
‘ 5 | - B . 6063—T5 ALUMINUM %§§ O = = -
f T f : _L_ - L2 © O O lﬂ_:
. | ? N 10z %
——{ 1.500 = 6.000 - 2 T -
(:).LMEBLDAMEEB_E.ANQ.E R BLADE SUPPORT & : > N
6063--TS5 ALUMINUM %E_MOUNTII\G ANGLE - 0.125 bl
@ 6063—T5 ALUMINUM ? L =i—e o
L S gV
— 6.000 —= 1.500 1.'(_) =
—{j=— 0.125 E
; ATRCHERY- ARG ¢ E
AN\ W\R\R\ NN i 606315 ALUMINUM [ RIC.
N 9 —1 1500 ENGINEERING
o N \ n 105 School Creek Trai
- (=] , Wi 5421
8 N 0.313 ——NJ— S 3 O e e o Prone: 9365451042
. 3 = Fax:  920.845.1048
" N \ i = 6063—T5 ALUMINUM Fex 920845,
1.638 feine
1 N\ & o 1500 L h’_l I-.; Texas Firm No: F-2183
\\\ ANOUOD NN NN NN NN ' ]

i.. Davig Rice s12¢8 ’
Registration No: 8124 / /

0.121 —-—l|-—

STEEL TUBE AL LQUVER BLANK=OFF
@ ASE @ 6063—T5 ALUMINUM @ 6063-T5 ALUMINUM




O
10 a —
~ 1.000 —= = 0.855 W S
o | _ 2 z g 1.061 g —
4.000 = = 7o) QN
l@; —ﬁi | E 0.317 lc»— 2.310 ﬁ .01 w 2
==if=— 0.8 0.062 — O g &
1} © s ? T ? 2 |
3 <> Q nl g © B
DAMPER HEAD/SILL < < DAMPER BLADE SEAL DAMPER JAMB SEAL ol SN2~ 2
6063-T5 ALUMINUM MATERIAL VARIES 007" SS b1 el g T
J — la— 0.125 &%?ﬁﬁﬁ%ﬁl 5 S‘ L§ = L
[=1] %] %] 8]
o . i KNURL PIN
o 0 0 —
™~ -~
S le— 2500 — E o 2 |yeSs z
0.125 DAMPER JAMS DAMPER BLADE & = )
_C:-“ ﬁ @ 6063—T5 ALUMINUM 6063—-T5 ALUMINUM L 3.620 = B 3620 {, %Eh\b xr = T
. T L
J ), (T ) %3 2w Sl
—
‘lf 0.618 [ NC P - N PN i =203~
0.376 BUSHING \ %zg - 5 0 0
MATERIAL VARIES . RETAINING RING =243 o8l o 2 > F
6 29| = E =
DAMPER AXLE BUSHING (445" LG.) @ NON-—DRIVE_DAMPER AXLE ASSY, @ DRVE-SDE DaweER axie assy. | @3 3 & o =
T e
T
Wiy g
R bl
S ;
6061~T6 ALUMINUM 5052—H32 ALUMINUM 2

(40) SRAER-HE,

6063—-TS ALUMINUM

TITLE

:

—= 2.000 L’*
—= 1.584 rﬁ—

—c=-| |<'— 0.250

ENGINEERING

105 School Creek Trait
Luxemburg, Wi 54217
Phone: 920.845.1042
Fax:  920.845.1048
wivw.rice-inc.com

Texas Finm No: F-2183
L. David Rice
Registration No: 81248 /

(
L=— 5.250 ——
‘.:,_ 0.125

¥

0.063 -—==||<'J

il

1 250 L:_ 0.750 —= |

—= 1.250

“J 1.000

—

DAMPER _SILL_DAM o RET
Aﬁfcﬁﬁ&i%%u ALUMINUR S
8063—-T5 ALUMINUM 6063—-T5 ALUMINUM

AUG 29 2013




—= 1584 fo- = LENGTH o =
ALUMINUM heeo CENTERED O
MULLION DRAIN HOLE FOR PAINT PROCESS N —
LOCATION r A r" B —j >y o~
A < o) L | =
g O O O O O O = Sl O
g P >
v HW o
B B ¢ | = = I
VO O O sl NiZ oy |2 LT
MULLION z == x T
£ QUANTITY VARIES WITH LOCGATION I B W o 0]
FASTENER TYPE PERIMETER WELD D % 3 %] ]
< 3/16]7
ALUMINUM MULLION END CAP © QUANTITY VARIES WITH
EOR_SLEEVE MOUNT SUBSTRATE EDGE
5052—H32, 0.25 ALUMINUM FASTENER TYPE \ o =
FIELD DRILLED Vo5 F 8 .
UFTING LUG LT + + + + Sl L 2 F
I DSl iy
E 3 < = W O W
313 ! - = o 132>
0.313 STEEL R el g 5 2 S o [
LIFTING LUG 2 D o O
PG e o) (48) FOR_CONTINUOUS ANGLE MGUNT Qg8 023 F
A 20.375/0.50 FOR 1/4® FASTENER IN ALUMINUM/STEEL 0.313 STEEL N 174N I0eUN o 10K ey = E = O
A 20.563/0.75 FOR 3/88 FASTENER IN ALUMINUM/STEEL FILLER>—347> o o DE G| o 2 -
B  >FASTENER SPACING DISTANCE O O O
C  2FASTENER CLEARANCE HOLE DIAMETER - | O Z <
D  2FASTENER SUBSTRATE EDGE DISTANCE - LENGTH - T L.\_t‘ <
GROUP CENTER = CENTER OF FASTENER HOLE PATTERN WELD BREAK ALLOWED T
SUBSTRATE EDGE IR
SET(S (0
; _,;/— /\ AT GUSSEX(s) LLER W =
< LENGTH . m’ ——— <= \ L
IR A AR A AR SRR AR R R R R AR R R R R, m
—=1 A B QUANTITY VARIES WITH s -
: rk A=| [ FASTENER TYPE e | & | EXTRUDED ANGLE OR (F REQUIRED) TWO WELD STYLE =
N (_% £ p o | WELDED PLATES 4"x4" TRIANGLE VARIES
] ONE AT CENTER 2",
! O © OR ONE NEAR EACH END| & RICE
ALUMINUM z g > o
z || B ° © LOGATION = 24 {K = (FILLER ENGINEERING
77} N Trail
z —— )/ O e 9 © / / . 7 8 T /4 TN_TOTAL=MN CUT LEWGH :gie%m.%%;%
g o STRA ! - B / P Frone: 920.845.1042
N pd SuB TE EDGE FIELD DRILLED $ / / B 1B g 1/4\ 4 FILLER F;x' 920.845.1048
ﬂ_—"— Bl /+ \f/ 1/ 4|/ 4 \ WWW.riCe-inc.com
A - - T 09 / QUANTITY VARIES WITH Texas Fim No: 2183
L. David Ri
| | ﬁ /' B/2 FASTENER TYPE \b , Ragietiation No: 81248
! B \_ QUANTITY VAREES WITH O SIDE VIEWS  FILLER MAT L.
U B FASTENER TYPE A SHOWN AT ALUM=4043 OR 5356
? L Fd J 1/2 SCALE STEEL=E70XX //
@ FOR_CONTINUOUS ANGLE MOUNT Bk . - :
. 5052-H32, 0.25 ALUMINUM VARIES, SEE B.0O.M. & TABLES BELOW
MULLION MOUNTING BRACKET TABLE, 1| OF 2 MULLION MOUNTING BRACKET TABLE, 2 OF 2
LOUVER |SUBSTRATE| LOUVER [GUSSET|MIN CUT| MAT'L | PROCESS LOUVER|SUBSTRATE| LOUVER [GUSSET|MIN CUT| MAT'L ]| PROCESS
HEIGHT [LEG  THK.|LEG THK.[ THK., |LENGTH| TYPE TYPE HEIGHT |LEG THK.|LEG THK.] THK. |LENGTH| TYPE TYPE
<144 21/2 2l/2 NA 163 |6061-T6|EXTRUDED <96 21/2 21/2 NA 6.6 6061-T6|EXTRUDED
<144 27/16 27/16 NA 24 A36 ROLLED £96 23/8 23/8 NA 12.34 STEEL | ROLLED
€144 zl/2 2l/2 NA 18.5 A36 ROLLED £96 27716 27/16 NA 9 STEEL ROLLED
5144 23/16 z1/4 25716 20 6061-T6] WELDED <96 25/16 zl/4 z3/16 3 6061-T6| WELDED
<144 23/16 23/16 25/16 20 STEEL | WELDED <96 23/16 23716 23/16 9 STEEL | WELDED Tk
AUG 29 2013




